Paper: B.E_B.Tech
Set Name: |Item33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: | Malayalam
Topic: Mathematics-Section A
Item No: 1
Question | 190601
Question
Type: MCQ

@OCUSHLIMN VDO 0 xdy=(1/x2+y2 +y)dx, x> 0 @S al@la0od Qo o6 x =1
Question:

om y =0 oleo eoel x=26my=oa e euemblenm). agssld, a @es melo :
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Topic: Mathematics-Section A
Item No: 2
Ql.festion 100602
ID:
Question
Type: MCQ

(@leann (@leoemdlal] ofe-G6Mmaans oel) MA@ Mmoo al@luven].olod,
Question: _

| x°—4x+2
(x)=cos -6 MEMWEAIo
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Topic: Mathematics-Section A
Item No: 3
Question
D: 100603
Question
Type: MCQ
= N AN = P N A =¥ A AN
a=(1+t)yi+(1-t)j+k, b=(1-t)i+(1A+t)j+2k, c=ti—tj+k, t € R agm)
Question: . - I
mElemBRHE), o B, vy € R, aa+pb+yc=0=a=p=y=0 @OQOM®M, t @}OS af)glo
MIEl FTBROS@Y0 1I6Mo af)M®) :
A: LM IDRO@® aldldl® wemmoam
B: N - emos ®)elymoem
C: R—{0} - emos el ymoem
D: R - @MOS ®)elymo6ny
Topic: Mathematics-Section A
Item No: 4
Question
D: 100604
Question
Type: MCQ
ladefleelon (@fles-0emaldl afeH-cemRIns me \MILINeBUDd aldlwerilojod, VAo
Question: | cos ~1(x) —2sin ~!(x) = cos~1(2x) -OM ag)glo alBlanOMEIBRIOSWI0 @) dQIE] M@
A: 0
B: 1




C: l
2
D: _l
Topic: Mathematics-Section A
Item No: 5
Question
D: 100605
Question
Type: MCQ
Quest %, @ € {A, v} ag)Ml (BHIQBEI@, (pxq)O(p © ~q) B0} ESO0E508EE @YEEME:IM, (E-MEERIS]
uestion: .

#, C_;) Q@(‘T’D@
A: (v, f\)
B: (v, v)
C: (A, A)
D: (A, v)
Topic: Mathematics-Section A
Item No: 6
Question
D: 100606
Question
Type: MCQ

aElwo a )OS @aaie 9 @@M/HIM). MEloo b -o® moeniaWlol agglo

— — & — — i
Question: (x, y) € RXR - {(0, 0)} #90 A0 (xa+yb) AM® MVEIWO (6ya—18xb) 6
= =

Bloeni@moem. agy@l@d, |2*b| wyes melo :
A 9.3
B: 273
C: g




D: 81
Topic: Mathematics-Section A
Item No: 7
Question
D: 100607
Question
Type: MCQ
te (0, 2m) @B, A(sint, —cost), B(cost, sint), C(a, b) (3dau6mBRIW MMER)ER (@1606Mo
, 1
Question: | ABC -@jes eodeemonmadd, (1, 3) (B0 QUIODHETI @ Bs1SH86)0M) ag)ssl@d,
(a2—b%) agM® :
A g
3
B: &
C: E
9
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9
Topic: Mathematics-Section A
Item No: 8
Question
D: 100608
Question
Type: MCQ
o € N @d)m). N -@d aildcuallafldlenom eumwo R aldlwemlaans. R = {(x, y) :
Question: | 3x +ay a)mM® 7 -o@ cemlemoem. . R 80} qumOm eUMLMIE:)6Memssldd,
@aidlesmaleial,
A: a =14
B: 4 @ weMl®moem o
C: o - O 10 606N aN@lBEMUID UllatiSo 4 LM,
D: o -OW 7 6068 aNBleeeMIoid tdlatiso 4 @M.




Topic: Mathematics-Section A
Item No: 9
Question
D: 100609
Question
Type: MCQ
60% M(@lego 40% LVM@IMO al})aHMMIRL0, DENVOIBMAIBHEIQS al6)EHSIENIM 630)
lOlHH @ 60% aeVEId@OlS®B aldluaranea|simy. al@lwemlHneqlsim
Question: | M(@BHRIOS ag)emo alBWETEnNea|SIM allEaHMMIOS ag)eNETennd e oglwoem.
aldlnemleneas aened@dle:gld alm’ e aeneddadlow (SHaoad®aow
HOENBAETINM),. SOOI nETLEId@Al B0} M@ @DBOMBE TVOW Jw:
A: E
4
B: 1_1_
16
C: ﬁ
32
D: E
16
Topic: Mathematics-Section A
Item No: 10
Question
D: 100610
Question
Troe MCQ
y(m/4) =e T @OBLM). B0} GOOIGRIMN MO0 I0
Question: (si112 2x)%+(85i1122x+2sin4x)y=2e_4x(25in2x+cos2x) . 5)(@ aI@la02® O(E-@moem i =
y(x), x € (0, 7/2) ag@I®, y(m/6) agM® :
A 2 23

ﬁe




2 2q3

B: —p
3
1 23
C: —_—p
V3
1 om3
D: —_p
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Topic: Mathematics-Section A
Item No: 11
Question
D: 100611
Question
Type: MCQ
_ maaigal 2 =2x-3 @pes P, Q sll3eedl@d ailom’ cua@sanm exmosialede-ud enilas)
Question:
R(0, 1) -@d euemufleoenmm). ag)ssl@d, (@led-06mo PQR - 6 e0de@mmaeudd :
A: 0, 1)
B: (2, = 1)
C: (6, 3)
D: 2, 1)
Topic: Mathematics-Section A
Item No: 12
Question
D: 100612
Question
Type: MCQ
11
QEmo 1% +y* —x+2y = -6 e 3moen C, aljemeriea eey eflaaoem’ P.
Question: | enflaz) C @flaes HSMGaldsM 60 el CP ag)m @6l @m0 E BB>06MB QLT
HNBIBN D)o AUEMOE® Q R enilm3eedldd alemubland-oio 621QRMM). ag)sl@d,
(@les06mo  PQR -6 aloa]and, (2@, @enidld) :
A: 2




B: 22
N ™

C: 8sin [—)

8

g
D: 8cos [—)

8
Topic: Mathematics-Section A
Item No: 13
Question ID: 100613

Question Type: | MCQ

Question: 72022 432022 - N 5 636N aOBBONEMIOD LIS UEla¥iSo
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 14
Question | 100614
_?;pees:tlon MCQ
0 10

ol A=0 0 1| wjo moglesm By=A% +2A% 9o @oeymy. aggon>1 - mpo
Question: 10 0

B,=Adj(B,_,) @@, det(B,) agma :
A: 328
B: 330
C: 332
D: 336

Topic:

Mathematics-Section A




Item No: 15
Question
D 100615
Question
Type: MCQ
1

Question: S1 = {Zl eC: |z -3 = E] g Sy = {zz €C: |zp — |z + 1| =|zp + |22~ 1“} @R BTN

ag)@l@, z, €Sy, 2z, €Sy a)IQURE), |zp— 21| - O BYOTD MEMOBYMN@) :
A: 0
B: l

2
C: E

2
D: E

>
Topic: Mathematics-Section A
Item No: 16
Question
D 100616
Question
Type: MCQ

_ apemo ¥2+12=1,z =0 - o@ aq) milajaled dlom meo 2x+3y+z = 6 CRIENES
Question: o @
RIoNIEBION aldBo @:lseanM®), MGl @&l agmilaosem ?

A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x — 3y
B: (5x+6y—12)2+4(3x+5y—9)2=1, z=6—2x — 3y
C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Item No: 17
Question 100617

ID:




Question

Type: MCQ
5,2
J"(:’C)=i-1-i x>0 - QOS &HO0Tm Mo 14 EOIM, o - QOS Mlel\o
Question: 2 427 $ $ 481 ’ 3 JEL)
@YLLNDILYM®)
A: 32
B: 64
C: 128
D: 256
Topic: Mathematics-Section A
Iltem No: 18
Question
D: 100618
Question
Type: MCQ
o, B, v, 00U @owlenallw mos w-a0em @RBI@, fx) = ax®+pa® +yx, x € R @OEYM),
agElo ¥ € R Mo g : R—R ag)ma) g(f(x)) = x @MY, ay, ay, Ay, ..., 8, G MOS0
Question:
1 n
el _ a_ _ .
AR DOV B} MVADACURNIWIeT ag@ldd, f g[n,;f( 1)] WeS Mmello :
A:
B: 3
C:
D: 27
Topic: Mathematics-Section A
Item No: 19
Question
D: 100619
Question MCQ

Type:




ay, @y, Ay, ... ()N CUREMIVIM, a; =1, a, =2, ap4r = +a, . n=1,2 3, ... @GDBM)

An+1
Question: a1+i a2+l a3+i B +i
a a a a 61 o
2 | 3|, LN - ol =2‘”( C31), ROD@OM, n+a ag)ma) :
as ay as asp
A: — 30
B: —31
C: — 60
D: —61
Topic: Mathematics-Section A
Iltem No: 20
I%‘feS“O” 100620
Question
Type: MCQ
X
NE @AM @OCUBEIMI WAIW afdEo f(a:)='|‘ei‘H f’(t)dt—(xz—x-l-l)ex, xeR - oM
Question: 0
O Mm)aljo :
2
A: —_—
Je
B: —2.Je
C: _,'/E
2
D: —
Je
Topic: Mathematics-Section B
Item No: 21
Qgestion 100621
ID:
Question

Type:

Numeric Answer




@O MWD af)g AUOO MIRETIE BESWORETRWD HEE aldMICLAAUBRIONS 1IEMMOM S.
@@ GIEN0 @ESWIRNe ERABEWlENca]SIAM™ eI {A, B, C, D, E} leal

Question: | @RHAOEIBERD @OOEL|®:IM, {1, 2, 3, 4, 5} -OBI (Vo6 |EHERO @BH:I0. S - HAl
alomicaudauealdd 6o erswoganmmleye {1, 2, 3, 4, 5} - 6A oA WIBLMAIWIOS
ag)eo ax5° @EDWIM o agM®)

Topic: Mathematics-Section B

Item No: 22

Question

D: 100622

_CI_)ue§tion Numeric Answer

ype:
maEER Monomdlée PRQS - @ tildavemasem P(—-2, —1, 1) , Q[%%%)

Question:
afledemo RS - 6x Gluod @ootoeniqwemB®d o, —1, B @OWIE, @O®IE, o, B e Eeel
MENETBWD a0 B0 Mo6U M,  o?+B2 ag)ome

Topic: Mathematics-Section B

Item No: 23

Question

D: 100623

?ues.tion Numeric Answer

ype:
f(0) =3, (1) =5 @W (0, 1) -@ ©6NE @M @O(LIG-EIMIWARIW afd-Emoem f: [0, 1] —» R

Questi y =2x+3 ag)m el f- 6 (oadlem (0, 1) -eal eeng alymymim enllaeedlad momo

estion: euemMWleaenamy. ag)msl@d, f(x) = 0 @M x € (0, 1)- 68l aRRlo 06 nIa3IeHa6sS
ag)em@oeny

Topic: Mathematics-Section B

Item No: 24

Question

D: 100624

?ues.tion Numeric Answer

ype:
J3 3
152

a .[ 3 dx_“‘ﬁ"'ﬁ‘ﬁ, o, B DO al)®emmoe \dxd @OWOMD, o+ is

uestion:

0 \/1 +x2 +m

Qg)om@y




Topic:

Mathematics-Section B

Item No: 25
Question
D: 100625
Ques.tion Numeric Answer
Type:
T —1 B 1 2 9
A=, |, B=] 4| @ B e Repeymmy, (A+B)2=A2{2 J ODOSHIBUM
Question: . .
QoS Mejmoem o, (A+B)2 = B2 9hO#608RIM o WHS MIRIMOET o, ag)Bsl@d, |og —ay|
Qg)oMn @
Topic: Mathematics-Section B
Item No: 26
Question
D: 100626
Question .
Type: Numeric Answer
p, q € R -a cuomimauayely a@dsco fix) = (x—p)?—q, x € R, q > 0 aldlwerilond. a;, a,,
a;, a, QM@ MOWjo p @Wlo Galdmilglal OalomIALI®PIVORMES B0} VAN
Question: .
euyemil@oam. |f(a;)|=500 agglo 1i=1, 2, 3, 4 -mjo @M, f(x) =0 - WeS
myel\emRdesilseilen Galal i@ oo @6M.
Topic: Mathematics-Section B
Item No: 27
Question
D: 100627
Question ,
Type: Numeric Answer
22
@nafloeiwo H: 2—y% =1, ddeciayomo E: pe3 +?=1, a > b > 0agMilaieses)
(1) E @ies 9bdes(m®m, H - 60 §BE(MB®m@IOS Ly Ed(e-0moen.
Question:

5
(2) @6l y= Jg ¥+ K ofma E. H e0QIQ@)6S 6)nlom) 6X@ISILIOQEM af)ssl@d,

4(a%+b?) @Rem.

Topic:

Mathematics-Section B




Item No: 28
Ql{estion 100628
ID:
Ques.tion Numeric Answer
Type:
L 1 e
Xy, Xgy Xy ey X9 AGYONE X = 3 OB @ROWENUIMWO - AOD godlafle euyemialaosm.
Question: | B0BMY x; - OQW}o (¥;—i)? ag)m @0l al@le@ony algle: mldalenyomy. aleiw
algGlBQ)6S MOWo ¥ @DWIM, y GMOS MILINEMO @OEIG) BOTME®O ERW HWDM
alj®em o6 j@oermy
Topic: Mathematics-Section B
Item No: 29
Qlfestion 100629
ID:
Ques.tion Numeric Answer
Type:
100
Question: | . (x+2cosx)3+2(x+2cosx)2+35in(x+2cosx) x
]m (5] (2]
. - BMNOS MDD
x>0 (x+2)° +2(x+2)% +3sin(x +2) 359
Topic: Mathematics-Section B
Item No: 30
Qtfestion 100630
ID:
1Q_ue§tion Numeric Answer
ype:
3x2—9x +17 _ 5x* —=7x+19 .
Question: 2435410 32 +55+12 OO® X OM agLld AU MLl JEIBRIOSWI0 @)
. @em.
Topic: Physics-Section A
Item No: 31
Qgestion 100631
ID:
Question MCQ

Type:




2
[B] 6 HOWHDMaHM ag)0s ?
Question: Mo
(1 : ledl micamien enlddleenieldglaze B : movienmglses adldianie @meemssslad)
A: [M L2T~2]
B: [M LT 2
C: [ML-1T—2
D: [ML2T-2A°]
Topic: Physics-Section A
Item No: 32
Question
D: 100632
Question
Type: MCQ
8@} 20fl@d (@060 (E]) 19.6 m HWEG T B30} BB dleanm). moallm) moey
9 km/h @)emileande Miallaufled 6@ ag)ad. mil. Ml alGo) BSM) Balddm). o) Mlvallo
Question: | MVDQED), BYO6M30D MOMILo (MIORUID) MICYHE) EDSIM). @Y MVAWET BO) EHAWE
lQollcellerel 300 @RAYEMIOD momivo eldleao ?
(@idlenmM® : g=9.8 m/s?)
A: 5m
B: 10 m
C: 19.8 m
D: 245 m
Topic: Physics-Section A
Item No: 33
Question
D: 100633
Question |1~

Type:




@63 OY®IN® o ldlesemensglad 5 kg @oomaes 6o almim) 25 ms— 1 miaflabldd mens
@y Slamilagldd eslanid-@o (i) 3 MO, (i) 5 HAVHHY, VAW OB

Question:
MlURIBIMOB) B0 62 IQYMY.
®I6)¥ §BOSEMHAUDI@ (Mlomyo LAY BEMOO TIOEETITHSIEED:.
A 62 @oalmuadiielo almimallm) cam 988 hoal@mlo @YOUCOE GaNdYILo
' a0 @lH)o0.
5 6 @oalquadlelo Hoal@M MEAQle MO @PHAUCOZE CandY M
' alymmimale @ofldleao.
c. ®6n3 @RCIMNEIAo @ROAIGOE Gand$my qumLio ag)MNOEd BDoaltdm) i@ M@0
' @WIdlL)0.
D: 6N @RAIMOWIE0 EDOUGOE Gand¥lo sDoalimlo QY TI®MIDIGClE6)0.
Topic: Physics-Section A
Item No: 34
Question
D: 100634
Question
Type: MCQ
6@} enuepemlm cuoyafl@d 10 (oo oo eene. enlaemlad allamio @enileande dORIG
Quest 4.5 cm/s oaleamlglall@d o) ag)iesal 6.01QRmmy. 5 6aVSO Bl enielend
uestion:
alj@emmoil o @606 6Mesl@d, @ enapeniimn) o @YER ©.01QRM @BAICOR
Gano¥my (eew) @rwildeso.
A: 3
B: g
C: 12
D: 18
Topic: Physics-Section A
Item No: 35
Question
D: 100635
Question |\~

Type:




coE i@ moQalle)oem c)alwies COMSIRND 2% El0WIBQIeEM:I®, B)alwIns MVdanmy

Question: |3 088 @RE-milalc0aum ay /) woalgl -------
A: 2% H)0W]o
B: 4% &»H)OW)o
C: 2% &H)0W)o
D: 4% »H)OW)o
Topic: Physics-Section A
Item No: 36
Question
D: 100636
Question
Type: MCQ
1 cm? ¢(@oM-eMeU® oag 80} UIloM Mlgo MOSIWIEHIM @YU IDIW
Question: | BaNOYV :
(@dlen M@ @RW:ME AUCIeM @eBMY emouwelmy : Y=2x10" N/m?)
A 1x107 N (mysm)
B: 1.5x107 N
C: 2x107 N
D: 25%x107 N
Topic: Physics-Section A
Item No: 37
Question
D: 100637
Question
Type: MCQ
B80) $HodEMog ag)M&m 50% afadlayjdmil gene. mileslom ®@oaimlal 40°C
Question: | ) OW]HHWOIOEME:IMD, ag)adlaydmil 30% &3SiM). EREBOMOWR:I@, ervovmiend
@Ol @DHNS- :
A: 166.7 K
B: 251K




C: 266.7 K
D: 367.7 K
Topic: Physics-Section A
Item No: 38
Question
D: 100638
Question
Type: MCQ
®06)9 ®MMIAIBELM® ONE (ol MIBOMBR6M).
(V@M I: 60) eagWl@@ nPMIE B8r) ®MI@MYINS ERAICOR HMIOHMMPo
@MW @D UHQIB6M).
(al@olm II : 6@ nIPMileal 68MIlRmM mmo@maes rms Mallw v @M.
Question: ®alMilel EDAZIWOHE W0, 630N MMI(@HUD 6306l &
@RS Qfleaislanie®io .01QBHWIaeM®sIEd, rms Miallaw 2v
@Dds)0
DB 0T CANAONMR NS HOUEl oETEEd ®I6Y OE0SEHAUDIG oo
WOIQIW HEMDO BIEEETMMSIHED:
A: euRenmd I 9o eguaemmd II oo vodlwoem.
B: enend I oo eguaenad II Ho 6HBmEIEM.
c: epRead I vadleloe, agiMo@ eauReamd I HmEle @6,
D: emReamd I emalo ag)Mmoed eaRend II tudlwlo @em.
Topic: Physics-Section A
Item No: 39
Question ID: | 100639

Question Type: | MCQ

GO EDGBsIaHTI@3,

Question: y = 0.5 Sirlz% (400 t—x)m
salallon enieceinmigl @M@ :
A: 200 ]II/S




B: 20042 m/s

C: 400 ]II/S

D: 40042 m/s

Topic: Physics-Section A

Item No: 40

Question

D 100640

Question

Type: MCQ
40 uF drajomflgmdm 988 06 dhalomilgoe:td aiidlcy @@l caislaflofldlenim). @

, mlgu@dflond e0HPaImdm dalomilgadm)’ 24 uF @oE MM 60} daqjomilgdim)

Question: o 5 = o o
nsflengs oMo OO A (SIHE CHMENM K @o® 66l elds(S]oHe
aumiepaflmodd afloafldleanm). K -@ies myelio @Hema).

A: 1.5

B: 2.9

C: 1.2

D: 3

Topic: Physics-Section A

Item No: 41

Question

D: 100641

Question

Type: MCQ

_ R, e0miguada’ oas e al@dlem alelloj digl @ealen dflao sneglosemm). ahallw

Question:
eomilguadme @EIOED 6OMlgMme moileas @rovdenIMo

A: 9:1

B: 1:9

C: 4:1

D: 3]

Topic: Physics-Section A

Item No:

42




Question

D: 100642
Question
Type: MCQ
60} womdclemodlgdlean &0 emummiglalgl e50m al@ids :
(A)  essndmilen ag)emo BOsN> Yl
(B) moUImgleds) adl@dou) dygides Ul
Question: | (C) @L0@@ - 60 oROIQ @J0H6)8 O]
(D) mijaflotdleny ESodaumM@d E-06MDENM BROBNE> Y.
®06® ®MIClENM BaladMydaldd mlimio eRROle BRMIEWIRINIW HEM OO
@066 S)BH6)d>.
A: (B) @0 (C) @jo mo(@®o
B: (C) @o (D) Wlo mO(®o
C: (A) @o (C) @io mo(@o
D: (B) @0 (D) @jo mo@o
Topic: Physics-Section A
Item No: 43
Question ID: | 100643
Question
Type: MCQ
ofli@omlad, 0.45kgm~! ellrlod awwadmidues ao) aagoellses coomus (snmmi aemud),
6@ MMETHIR a0CEaVIeEe)MOW] 45° Ch(BmEas 630} 21010 MRIETTIOY BlSe6m).
cooaslmy ea@d 0.15 T mouie)mles) adl@dal loenimow] oydsslEelds) (alE@oullaanEmion,
coollem ailunieimddssl MA@ &SOMGatodhM dlailmo £SO :
Question: { g=10 m/s? @@ Halecwouil@a)d.}
B+ Al
45 "I
A 30 A
B: 15 A
C: 10 A




D: 3 A
Topic: Physics-Section A
Item No: 44
Question
D: 100644
Question
Type: MCQ
8o} alyaldell oSl Mdssiglenl &:062 EeE:auM 5 sin(49 wt—30°) @RERM),.
30 mH @ @mem e0MOWBSMNY ag)esl@d, EnMALESCIM) B0 588 BAIIDESE 6
Question: | EDGEHUMD BOBOYM®D) :
{‘rr = % @R af)S)B6)d>
A: 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt+60°)
C: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+ 60°)
Topic: Physics-Section A
Item No: 45
Question
D: 100645
Question
Type: MCQ
2l@EW@D 605l dlenmaycatoseal, dlallo 1 -2Res &SI Calowdllm) Guoato
oo 2 -epes eeeaiglen miaflu’ v, EIdlean)s:.
(@oildleamnmm) : ¢=3x108 ms-1)
Question: | Ajr |Medium 1|Medium 2
pe=1 =1
=4 €=9
I BT
A: 1.0x 108 ms-1
B: 0.5x 108 ms-1
C: 1.5% 108 ms-1




D: 3.0x108 ms-1
Topic: Physics-Section A
Item No: 46
Question
D: 100646
Question
Type: MCQ
80) Jllandssslen’ asellmvesoalledm emodad erweganad@, emimasialo
Question: | ®agaflovio ®mlepgs @delo 30 cm @M. OSAlMEHIallOnd @@owyelod
20N Mladledaum 2 @eemIoRd, eHagallmiend candeH@ eLIETEE™ @IHEM®.
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Item No: 47
Question
D: 100647
Question
Type: MCQ
1-227 o b Al A
A= nm ag)(Mm MAOIdE: 0 60} eRIE:esoemle all-(eniowl calal eerlemEEmm)
X
@63l 1516600 Halewousleno 00 MAAUIE:IEBIM x agma .
Question: | 0@l  m=gaieesoelon moqy
P = gnelsesoenlon emoanmndo
K =80el8:6s0emam £6@:amale: agmd el
V=Gaomsm -@ 9&s eIe:ESIeNnn @oe:rilelcOhlens ealoagmday (o3
A JmK
B: ,,/13
C: JK
D: JV




Topic:

Physics-Section A

Iltem No: 48
Question
D: 100648
Question
Type: MCQ

60} coUllewo @RE:SIOl menigRMMIng anoal aeelad alldlaw’ 60 Alaumemud @e).

. . o 7 (] w

Question: | moaflom adlglmad aoqy - g @owo aSlvemMe (g ©21Qomas ma®o

BOHELMND) :
A: 120 Alcuensud
B: 130 Aloumessud
C: 180 Alcuensd
D: 20 dlauquenBwd
Topic: Physics-Section A
Item No: 49
Question
D: 100649
Question
Type: MCQ
Question: | @OldlesM ofl@memgldd emogod e e ol ae®mM @Il.o)dlw)es)

I
A:
v
I

B:




C:
Vv
I F
D: < / >
( V
Topic: Physics-Section A
Iltem No: 50
Qgestion 100650
ID:
Question
Type: MCQ
Quest aleguodarad e¥lalosanmM@lmoel, @oq(laual’ emoaeelatmldd, EmomEelaHmd
uestion: o .
EDMDABMY () --------- @RWdlenemo.
A: = 3 )
B: B = 1
C: p=2
D: 7= 0
Topic: Physics-Section B
Iltem No: 51
Qgestion 100651
ID:
Question .
Type: Numeric Answer
M A M A AN M »
Question: i +2j + ak-Q)6S 0@ 088 21 +4j — 2k QOS 6)lnl0RBHUM al)R o @Y. af)ssldd,
o @IOS oYeljo @D BN,
Topic: Physics-Section B
Iltem No: 52
Question 100652

ID:




Question

Numeric Answer

Type:
2 oenfleed 30 dlailg anoad ©6LInl HEE ([N @YW HENBIHEI 60} GO @DBSIOT

Quest BVOY MY @MAUBMIRAIW 6@l ealalelemenigie 64 mses @MMIG oas

uestion: % o v o v

coleaum® ol 6olQIM). @ caOYMMOQ] oMVWan @RV AIdHE)
6)-2.1QJOMIBLMNE oemloeyd dailae maeEwlo cuoato @RWIGE)0.

Topic: Physics-Section B

Item No: 53

Question

D: 100653

Ques.tion Numeric Answer

Type:
560 nm GaInd enelg, e Wenitd QI ag)d:nenIdlanm@ldd @RS EmSIE eelenq
lndiddzmilom emaleOaum® 7.2 mm 988 MBI alderem ©ensoean;M. el

Question: | BRS}EMSIE €6 (EUM (dlDBOIOM HAMVAIEOAHM 8.1 mm 988 MMAanOMMY
HEMBOHNTN MORIE:) ORI HalEROUSlEHNM]. PNDOED OBLIFION GO HLIEEwT

nm @®d:)M).

Topic: Physics-Section B

Item No: 54

Question

D: 100654

1Q_ue§tion Numeric Answer

ype:
LCR qd#sgldd 008 @doq(lgyual eralem modmilao aloalyalle % MS6u3

Question: | @M (abld|DMSled 212 rad. s=! o 232 rad. s! ®o @@em. MdHeISIeA
e0miigumdmile cloely R =5 Q @rem. desigleal amGiad eMS:SM
mH @gem.

Topic: Physics-Section B

Item No: 55

Question

D: 100655

Question

Type:

Numeric Answer




2l @O Ho6myM Caloerl, HOaBlgudm’ 20 O o Mlge 300 cm Ho OB &)
£ loegMeauoalnd d, 8w HOMIARIBNY ENIIEMY (R.B.) -@mowio 4 V emf pag
60) EROMEWAW HIVLMOWI0 EEME:S H.olWEdlenymMy. ‘R” esomilgumdm’ oas
& 0MIlERIdM” GenIoB:milm, 20 mV 988 &) aavgfle® M calowad 60 cm @RS

BH06Me|SIM). ‘R’ &} qUoaly Q @em.
Question: 4V R
———RB—
A B
O
20 mV
Topic: Physics-Section B
Item No: 56
Question
D: 100656
?ues.tion Numeric Answer
ype:
OOWEIOWD DODMMIBHD WLNO@Mo 1.2x 10730 Cm oo 2.4x 10730 Cm o HEg M6
EDEIB(SIs OB TVSEREIRLMD @LNoEmo 5 x 104 NC-1 eo 15 x10* NC-1
Question: | 2° @@ @6NS (LY@ JN®MO® @6mlEando eI Sles adladaeeldd al.ofldleanynm;.
| aIe(Eles 00wenlof sl @rMIEnlfe]SiM modsmilne @sodeslan @rovsmIawo
] @oWdlonio x O aloely @em.
X
Topic: Physics-Section B
Item No: 57
Question
D: 100657
_Crlue§tion Numeric Answer
ype:
320 Hz (adlespidmilai@d allmilaislal, 36 km/hr ecueanmiglewons 6o eymilmy emddesy
Quest oeri@l o)) ©0ensldloem e siaien eeald eamila alome e8s aIwllwirl @es
uestion:
ladls ) Hz @oidleane. (auoalldd wenicomled exnieaomidl 330
m/s @em. )
Topic: Physics-Section B

Item No:

58




Question

D: 100658
_I(?;pees:tion Numeric Answer
eawmdmidl 1750 kg m 3 988 80} 6L RaUMI@ BS] SN CaldBlEMUIWD B0} ag)@d
Quest enueniglleon 2 mm pag aw@alnd 0.35 cms-! cudlomo® GOFIBD @SN, HAVILLPaU6M
uestion: & F o
edx0ag)aldlayt B 630a0 Allmieeomilgl agye-6auoo poise @em. (cUoyled
eWDMIG HEaledlenon)mmoenT.)
Topic: Physics-Section B
Item No: 59
Question
D: 100659
_Crlue§tion Numeric Answer
ype:
06MHlH ag)NdEd E ecwons alallemnmm aoqy ‘m’ @odigies 6o eeploss) (ol
061 o ®)ealoeel) erallon miafla alo)ml@osyemiod oy miallemslom 25 cm
MO @ 2oeeymMm). ale@oulafldleanym milallemlon aviallens” em0endaym,
n= nE Nm-! apefdlseao.
Question:
—K
m
Smooth surface
Topic: Physics-Section B
Item No: 60
Question
D: 100660
Question

Type:

Numeric Answer




soecoomiledio @y ‘M 9o wwalgd ‘a” @jo EREISIE! ML) eag) W@
Sl Be)e-d aflmasilad @06l ojealonel @eme e alaildleamm). milguosiond

00' dlvniieal emona 60ad enemdaH) E Ma? @oeemsi@, x om aloaly

@ Qdlen)o.
TO
Question:
1O
Topic: Chemistry-Section A
Item No: 61
Question ID: | 100661
Question
Type: MCQ
Question: | @26 BBISYOTAlBOMAUIIE (MloMie AIEJOED (EIMIBOCUM 6 6NBETT):.
N mylMilm 2)nio eeIe:ESIed 2leflaeym QEmoByEileienas alomwoeT)
' eeniocleond eodenilqowll alldequdl.oaw.
B: B0 @OROTIOL! B0) ERIB:GISIND (e IOY® anIMmOem 6@ 63006nilQed
C: £6)00(WERMD M6 IdsSmosm eeniod sodenilglen allairlddallem allomemenma.
o @ERodlE: BodNIIQRNEHGIONS MIBOAUBE® EH6NMIBEM@ B0 MMUOLBEIW
' n §ol Ho EYe.
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100662
Question Type: | MCQ




Question: M6 P W)6363 GD_I{'MJETEB@FO% mﬂ@gam@' Q@Gﬁ ?
A: AH = AU-PAV

B: AU =q+W

c B8 A 220

D: AG=AH-TAS

Topic: Chemistry-Section A

Item No: 63

Question | 100663

_(I?;pe;tion MCQ

el - I oo eflgy - II Ho ¢alivjoals] GlRHE)D:.

efigy - 1 eflgy- II

(A) Cd(s) + 2Ni(OH)(s) = CdO(s) + 2Ni(OH),(s) + H,O(l) ()  e6lalad] eriogd)

(B) Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (II)  eaeH ]
enIondlaes

Question: 20088 Ma¥isSe s

(C) 2PbSOy4(s) + 2H,O(1) = Pb(s) + PbO,(s) + 2H,50,(aq) (III) &nqwm &)o@

(D) 2H»(g) + Os(g) — 2H,O(1) (IV) 6)(7‘0056)(@0']
enIonClwes
2100 LRIHE@®D

®06)9 ®MIEIHNMM 630aiaum)esal@d Mo tadlow BEMRo BOOETIHSIHE]H:.

A: (&) - (@), (B) - (1), (©) - (1), (D) - (IV)
B: (&) - (IV), B) - (1), () - (1), (D) - (IIT)
C: (&) - (1), (B) - (1), (©) - (IV), (D) - (1LL)
D: (&) - (1), (B) - (1), (©) - (1), (D) - (IV)

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100664




Question

Type: MCQ
ellgy - I oo aligy - II Ho coldjonls] C.oldse)d:.
efigy - 1 eflqy - 11
(A @E®mMo MGl B0
(A) 4NHz(g) + 505(g) = 4NO(g) + 6H;0(g) (D NO(g)
Question: (B) Ns(g) + 3H,(g)— 2NH;3(g) (I)  H,SO,()
CipHpO11(aq) + HyO(l) = CaH1206 + CeHp206
(€) Glucose Fructose () Ps)
(D)  250,(g) + Oa(g) = 2503(g) (IV) Fe(s)
®06® ®MIdlEeM 600l dlomie tedl@Eme @lEEETHSIHE)E-.
A (A) - ), (B) - (), (C) - (1), (D) - (IV)
3 (A) - (), (B) - (1I), (C) - (1), (D) - (IV)
C: (&) - (), (B) - (IV), (©) - (1), (D) - ()
D: (4) - (), (B) - (1), (©) - V), (D) - (O
Topic: Chemistry-Section A
Item No: 65
Qauestion | 100665
Questi
T;Ipees on MCQ
MOOYW)RE CRISIHEICAITIAI06M CLISH MYLIMHEBRIOS DEISE(SIM @RdE]®
ag)MLo@all afO0#HHO0 B0} Calonal HERE®I (nearly the same) @06R| 8@
MVAOMAOWE®I @OWD® ?
. (A) Rb o Cs 9o
Question: (B) Na o K @jo
(C) ArgoKr oo
(D) I @jo At @jo
@06 @IABHEM BoalatmMd:El@ Mltmio LeElIEmE GOEETTMSIEETP IS
A: (A) @jo (B) @jo mo@o




B: (B) @)o (C) @0 mo@®o

C: (A) @o (C) @io mo(@o

D: (C) @)o (D) @io mo(@o

Topic: Chemistry-Section A

Item No: 66

Question | 490666

_%Jpees:tion MCQ

Question: iﬁgz‘;} :}Jﬂic:i:;’) ?LOJGSJO(DD)&_%@ @odOM vB)ALlE-EEMETHIM @RMEWIR IMOWE af®)

A: 2Cu»S + 305 = 2Cu50 + 250,

B: Fe;04 + CO — 3FeO + CO,

C: Al,O3 + 2NaOH + 3H»,O — 2Na[Al(OH),]

D: Al,O5 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question | 190667

%l/.lpees:tion MCQ

Question: £00ssllel Aol alewoudle] &AM Lele®m MmBGIAIOBNEMIORD )0 flaymmoniyom
BRIDAD AIQIEMETBRI6M !

A: Ca(OH), ®o0 Mg(OH), &0

B: CaCO; 90 Mg(OH), &0

C: Ca(OH), 80 MgCO, &0

D: CaCO; ®o MgCO,; o

Topic: Chemistry-Section A

Item No: 68




Question ID: | 100668
Questi
T;pees ion MCQ
Question: | MOOYRE (A ITVBIUMEBLEIBD aR® @EM LodlLOED® ?
A geieileoal LiF 60 Sy06ms) CI@mo @oailexi #1061 66)a0E(Wati ag)dLuo@dall
' @RIMO6MT.
B: KO, alo@mdutimeld: @pem.
c. (BoaUs @pemoeTioalea cnvouslwemen el e e @semlals)m
' MVIBOCIMEBMOET).
D: coUSlWo GRIaO®MIM 6)aldZ0M o GRIDAOEEMHNIWD £YSIME VOB S6NE.
Topic: Chemistry-Section A
Item No: 69
Questi
Do 1100669
Questi
T;Jpees: on MCQ
eflgy - I 9o eflgy - I Ho &26M0 (aldEDM@TIao alj06a]SIAlleNM AIOBE:6 @D
@OSIOOMMIBE] @.2ldjonlsl Coldee)ds:.
el - 1 eflens- 11
(A)  (NH,),Cr,0; —2 M H,
Question: | gy KMnO, + HCI — (I N,
(C) Al+ NaOH + H,0 — () O,
(D) NaNO; —2- (V) Cl,
069 OGN B3oaladM)eel@d Tlomio LIBIRYEMEC TOEETTMSIEE)L:.
A (A) - (1), (B) - (1), (©) - (D), (D) - (IV)
B: (A) - (M), (B) - (I), (C) - (IV), (D) - (1)
c: (&) - (@), (B) - AV), (©) - (), (D) - (1I)
D: (A) - (), (B) - (IV), (©) - (@), (D) - (IT)
Topic: Chemistry-Section A




Item No: 70

Question

D: 100670

Question

Type: MCQ

Quest moav)aacicaimiaosm wom) @ogemgldd alamie H, &6m qummmosed 06T

uestion:

lalQUem® 688w ?

A: CHi

B: Mn

C: Ni

D: n

Topic: Chemistry-Section A

Item No: 71

Question

D: 100671

Question

Type: MCQ
®06)® ®MMIBIBELM® ONE (oMM BR6M.
lalimoam I: oellm keiedlea ei@lo] eosmizgemwio BOD @ieswo myel e

QUKD BYOCLOE).

Question: ; . ;
ladmimonum II : @)eSoadleanauannd aneimowl aiEle) Bo6milEan @gaT @l0@Im).
D81 OBHOSIATI AN HN,M (M ®IUMBELOS U] o) E1Ed, ®dlenymm
630ala Ml ailamyoem vodl@mdo @HEOTHS)E6)E:.

A: (el moUM I ©o (alavmoaim II o veclwoem

B: (oM I o (alrv@moalm II ®o emQo6

C: (alavmocm T va@l@oem, agMmom@ (alr@oaim IT emgoe.

D: (alvmolm I &®Qo6m ag)moEd (loimoalm 1T vodlaoemy

Topic: Chemistry-Section A

Item No: 72

Question | ;00672

ID:




Question

Type: MCQ
eflqy - I 9o eflgy- IT 9o E.aldjoalS] G2 IdHE)Ms.
eflmy - 1 el - 11
(A) Q I)  MIOBIBOD TVoIAMO
(B) >Q>< (II)  @PEOOMIHIE> MOWBMO
Question:
(C) :[>< () GalorI®  @OLIOA®  ©aOREOIOONVE]HE:
MO} BMO
(D) @ (IV) 066UeeIIeE0 MVOWBMO
®069 MGl BoalaHmMel@d mltmye tdlwEmre GlE66TTNSIEE)E:.
A (&) - @), (B) - @), (©) - @V), (D) - (1)
3 (A) - (IV), (B) - (111, (C) - @), (D) - (1)
c: (A) - (), (B) - (IV), (©) - @), (D) - (1)
D (A) - (IV), (B) - (111}, (C) - (11), (D) - (1
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100673
Questi
T;.Ipees: on MCQ
MOOYWRR (IUD@DHMETBRIOS (OOIOW Bdaiatd BO6EMMS|BED:.
T (OAQ)
Question: BH Hg(OAc),, H,O
vestor: | (BHg)y 5 H,C—C-CH=CH, > A
H202/OH | NaBH4
CH,
A: ‘A’ @lo ‘B’ @lo mODEH6EMIBH00 TVELEIMN HBIMMETRRIEM.




B: ‘A" m0dese0emlIes6n00] ©3almale ‘B’ @oBlmodes606niee-00l ©malmaymoe).
C: ‘A" @lo ‘B’ @jo @ogl-modEH606TEe-00 Hmalmmes3gem
D: ‘B’ m0@e#606m1ee-00] 9@almmaio ‘A’ @ dl-m0des606Mm@s00] ©®alomalmos.
Topic: Chemistry-Section A
Item No: 74
Question
ID: 100674
Question
Type: MCQ
Question: ®06YWBRAIDIG af® MoWIHMHATIRI06M BRSWIR|S,ESIRIClHeM Ealoeg06nd
Heston )06 pK, myelio #x06emilaema) ?
H
A |
H,C-COOH
H O
B: |
H
&
C: |/ HS
O
D:

@/HHD -

Topic:

Chemistry-Section A




Item No: 75
Question
D: 100675
Question
Type: MCQ
®06® MMIEHHM (alUd@DHM cemiaion M6l H@alMEmaI® A @jo B @jo
D OENBOITE.
(l:l
(1) CHiCHy, AICl, o ¢ 0, /1,50,
Question: (2) O, A
) > P >
(3)H , H,0 ,
Br, in CS,
B
®
OH OH
A: and
Br
9] OH
B: and
0] Br




OH

O
Br Br

c and

®) Br

OH

OH Br Br

D:
and
Br
Topic: Chemistry-Section A
Item No: 76
Question ID: | 100676
Question
Type: MCQ
®06)® ®Idleem aldlaud@dmEBan @l (IMIBICIM &:6)6MBEE)H:.
Question: | CH, — CH,— CH, — CH— CHj, 2 A 4 B
—CH,—-CH,-CH -
| CHOH (qyanyo)  (ercay)
GN(CH,),
N A - CH,CH,CH=CH-CH,, B - CH,CH,CH,CH = CH,, 6mogemad
BBl METIUD

B: A - CH,CH,CH=CH —-CH,, B - CH,CH,CH,CH = CH,, Ga02a0mod ®alomes3ud
C: A - CH,CH,CH,CH =CH,, B - CH;CH,CH = CHCH,, Ga00a0md0d 9@alomensud




D: A - CH,CH,CH,CH=CH,, B - CH,CH,CH = CHCH,, 600@5§6(Mad 9@almeusdd
Topic: Chemistry-Section A
Item No: 77
Question ID: | 100677
Question
Type: MCQ
Question: | &SAIENlMd caloglmd pIEloeM® IO B:6nMdemarmileyeswoam.
A: E0DELAM-1, 2-AE@oRlo eEIIMMIIM-1, 3 OO BVDEEIB:MIlle: @rAM 10
B: elaloGal -1, 2-WeEwoglo eerIMMUlM -1, 4 HOAW B0dEEMUIBMlalle: @ogAI0
C: E00ELNMD-1, 2-E@ogio eENUMMUIM-1, 4 HEOW B0BdEeNIoBMIIelle: @AM 0
D: E00aELOM-1, 2-ewoglo eeUadmilad -1, 2 een B-0deenIoB:Mielle:; @ogAlo
Topic: Chemistry-Section A
Item No: 78
Question
D: 100678
Question
Type: MCQ

®06)® ®MIEHHMM OOMIlE: Saodl@aRogld (X), ElWIW 6O alOEMIMY

apISMWOEN :

HO—(li—H

HO-C-H 0
Question: |

H—(|:—OH
HO_(|:_H
H=L




3t
®
|

OH
A: OH
HO |
OH
HO =
OH
B: OH
HO |
OH
HO ]
HO | OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Q .
uestion 1400679
Question MCQ

Type:




@OV (IlEROWE: BVaUWETEOHS BGlo)8s (A INIMOIIMED ey ®TIS)enE.
(A)  0ENLE0WInHSI®MIWE)0 ABNVAIWlAHSIMMLOEH@MOW (FIEIWE: BVaHWEIBE)ENS.
(B) @ocl cqugdlal @owemsgilego @oealogucle: omemsilalo enimuflalleannalsoo

(C) 2@EIUladCl® B8VaUWEBWR @PERINClE: BINOHEM ®SEOQ|SIEMIM

Question: .
6VaUUETBEIEM.
(D) 2eEoWladClmngomm BVaUWEBMR MEIOID0W BINOED SIYOQ SO
60aUUETBEIEM.
®26PQEE B30aiatmBElad Mlimio apRQllo &olmmI HEMRe BEEEMBHSLHEID:.
A: (A), (D) oo
B: (A), (C) mo@®o
C: (A), (B) mo(@o
D: (A), (B), (C) mo@o
Topic: Chemistry-Section A
Item No: 80
Question
D 100680
Question
Type: MCQ
OJo ®alMla@ @reesw) @oewoemie H,O, m0e)es (alaud@mmasied nailes
alom@il@d,
(A)  aggowicaovio aeflemon] HEMBIHSIR Eoda] LIRS HalewOUsee)d:.
(B) ag)glowealovio GMIWIRe ®MEWOIMWBEaNE L0@MIwes mous®m  KI
Question: CRBNEMBNITD ) OCLOBE OLIBE)Ds.
(C) ola ddloo eeMmBI® OSHMWBR MAWo EOEUAN|S)EME:. (Record)
(D) dlal dloo pensoRMEIM HmOgE MMURE VARO EOEEN]SIEIT)E:.
(E) ag)gowiea ovio avoauflwo ®mewomiideanng alo@mlaes »nousm KI eiallemenoud
YSIOEINBEI] LB .
A: (A), (B), (C) mo@o
B: (A), (D), (E) @o[®o
C: (D), (E) mo(@o




D: (A), (B), (E) mo@®o
Topic: Chemistry-Section B
Item No: 81
Question
D: 100681
Question .
Type: Numeric Answer
@O MMM (ald@HmMETITY
X + Y + 3Z SXYZ,
Question: | X ©MBWo Y @es@jo 1.0 @@0® 0.05 eadtd Z @@l XYZ; ag)m Mo@jdmo ®a0M).
XYZ, &) anelo g @M. (@RS)E® alidemnmosy)
(@ildlemmae : X e@io Y @ies@io Z emMwio @oRdile: @06mR0 @L0o@:no 10, 20
30 amu ag)MilemBemeoem.)
Topic: Chemistry-Section B
Item No: 82
Question
D: 100682
Question .
Type: Numeric Answer
B0} MLIHHMIW M @RINDEH(3]E,®MO® B yeniles ey eavgflad ewy clssien algo
9 300 pm @R aloelle:dlenimm). v MmEele-EElan qom® 6.0 g cm ™3 @oem. &0
tion: .
Heston oeleomulen 180 g @oseEl5en @RREMBRINS ag)epo X102 s@yem.
(@os)E™ aljdemnmoosly)
Topic: Chemistry-Section B
Item No: 83
Question
D: 100683
Question ,
Type: Numeric Answer
®06YERNIXIE aldE0MEMEHlH: @D AIBMEBRIOS ag)eo @Re.
Question: 3 i
B,, Liy, Cy,C,,05~,0; and He,
Topic: Chemistry-Section B

Item No:

84




Question

D: 100684
_I(?;pees:tion Numeric Answer
150 g @oaugls: erAe®® 10.2 g @omics:0denile: @ngoe (C.HO,) ala] @oalen clmeno
(xx10~ 1°C @l movemom aellafle:deammm). x e mpelio @6M. (@RSYETD
Question: m&@%mo&l&)
[@aTidlenima K=3.9 k kg mol ']
[@omies-0tenile: @mog@mlon mmomo @ro= 176 g mol ~1]
Topic: Chemistry-Section B
Item No: 85
Question
D: 100685
?ues.tion Numeric Answer
ype:
enlysldles ergasian (C;H,COOH) K, 2x10~° @psm. enlygldle: @ogemien 0.2 M
Question: | el@lQyes pH x10~! @@em. (@oSIEO® aljdenmvosly)
[mildleame : log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D: 100686
?ues.tion Numeric Answer
ype:
@ldleanmM 60mMoo BOBUR (el UGB M@EYEI @D
A—B
Question: | 800 (JQIBEDMEWTOMR @RELOWIQY 0.3010 dlMIQEWD GLEM. ERE]E:00EET 6D
@ISO OB NIUIMWIo @REID:I0HOTIOM 2.0 dlmidles mIw®m®io ®olelas
@OMNIIO®O M el modiidlenio. (@RSIE® alidenavosly)
Topic: Chemistry-Section B
Item No: 87
Question
D: 100687
Question

Type:

Numeric Answer




moey mMildlenymMmail@d  mlonieo, M J@d allodlw@ ceismias

Question: | @HBANVLIRMEBHRIOS ag)ENo
CIF,, IF,, BrF;, BrF,, I,Cl,, IF;, CIF, CIF,
Topic: Chemistry-Section B
Item No: 88
Question
D: 100688
Question ,
Type: Numeric Answer
@og MOW nEfleal MnOZ~ 6@ o (aloGalodatemated anaimo@ moomalmilend
Quest MENE MVOWHMETBUD A @lo B @jo @lalo 6-06M3). Mn 610 6308>0mle-0emoalaun B @i,
uestion:
A @Es@IEMHNOTRD B00U0eeMEI@, B @ies iallid mo@o aldlwenlojas mouimegles
60000Fe M () meljoemy BM @b @Qem. (@OSIE® aljdem Mo6y)
Topic: Chemistry-Section B
Item No: 89
Question
D: 100689
?ues.tion Numeric Answer
ype:
. @0t Sanelel@ Cu(en),(SeN), M MLOWIMOIW @IOMEADIM BYSIME@ MUAlOMmW)EE
Question: ©ag)BMIDOIBHAOS af)io @ @lee)0.
Topic: Chemistry-Section B
Item No: 90
Question
D: 100690
_?;pees:tion Numeric Answer
C, H, O agarilal @osemle ao) Sodentenile: mowsmemion 0.492 g 6@ alidem
Question: | gleim@reiiad 0.7938 g CO, ©o 0.4428 g H,0O 9o ©BEalodlafleanimm). 600 mowsmmdfies

BMilEe® % cISsho @EM ?




